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cancel common factors between numerator

and denominator. Note two things about this example.

1. We put parenthesis around the denomina-
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Example Multiply then simplify
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Division

Rational expressions are divided the same
way fractions of integers are done, invert the
divsort then multiply.

be

a d_ad
b ¢

SRS
alo

3zt _ 6ay?

Example Divide: 79, 37 2.9

_ 3zt _ 6ay?
To22—22-3  22-9

B 3z 2?2 -9

T 22-22-3 36212

B 3zt (x —3)(x +3)
T (@=3)(z+1) 6y?

3zt (z — 3)(z +3)
(x — 3)(z + 1)6xy?

3z*(z — 3)(z + 3)
2-3zy?(x —3)(z + 1)

3
3z —87(x + 3)
2 By (x—3)(x + 1)
z3(z + 3)
2y*(z +1)

z3(z + 3)
2y*(x + 1)
multiplied out, and this is fine. It is com-
pletely reduced.

The final answer here is not

Exercises

Simplify the following.
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